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 Autograph Activity

Introducing the Product Rule - 2


	Having seen (previous sheet) that the Product Rule: 
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works for y = xsinx, check your answers obtained using this rule (simplified where possible!) for each of the following functions. In each case:
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 Enter the given equation to a new Autograph Page (Advanced Level)
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 add the Gradient Graph

( In each case add the function you have obtained using the Product Rule

	
	

	(i)    y = x(1 + 3x)5
(ii)   y = 2x(1 + 3x²)3
(iii)  y = x²cosx

(iv)  y = xex

(v)   y = xe−x
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- Equation 1: y = x(1 + 3x)®
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[image: image9.wmf] Action - Show all your working when using the Product Rule. Simplify each expression as far as possible. Three of the five functions are shown above – sketch each one, with it’s gradient graph, and label it with the appropriate function. Sketch the graph and gradient graph of the other two.


[image: image10.bmp][image: image11.bmp]







































© Alan Catley 
28/04/11
01 The c in y=mx+c

_1190449529.unknown

_1092804722

